Solve 4y +1=6y+26
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A straight line L is shown on the grid.
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Work out the equation of line L
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(a) Complete the table of values fory = x® — 2x + 3

N

-2<x<?2

(b) On the grid, draw the graph of y =x3 - 2x + 3 for the values of x
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(b) On the grid, draw the graph of ¥y = < for 0.25=x=<10
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Iron has a density of 7.8g/cm3.
A solid iron statue has a mass of 877.5g.
Work out the volume of the statue.

v— & BI*: S
a = 3.3
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A box is placed on the floor.

The area of the box in contact with the floor is 2. 4m?
Pressure exerted on the floor 16 newtons/m?

Work out the force exerted by the box on the floor.

4 = Px A

= 10 X Ly
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A cone has base radius 5cm and perpendicular height 9cm.

Volume of cone = %nr"'h

Curved surface area of cone =77/

I\ ]
ey

Work out the volume of the cone.
{ . (I
3 .
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Work out 3a-b
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Shown below are six triangles that are not drawn accurately.

Which two triangles are congruent to triangle A?
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(a) Simplify

m® X m?
(b) Simplify
10
m2
(c) Simplify
(m3)6
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Write down the exact value of Sin 30°
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W
5.2cm Not drawn accurately
/] R
//4.5cm eem _\2_: (S-l-*— \Q_%\\(LVS
/ v
10.8cm

Calculate the area of the trapezium.
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Write these numbers in order of size.
Start with the smallest number.

b v A v =
0.92 0.901 0.99 0.099 0.909

Q.C8%% , 0.9Q 0.80% o AL Qa9

..................................................................................................................




. Write down all the factors of 36.

1, 1,5,9,%,5 12, 18/3¢




Complete the table.

Fraction

Decimal

Percentage

I
pAS

Q3

85%

)
2<

0.12

P/

23
25

Q S

= YA

(4)




Here are 6 diagrams and 6 labels.
In the diagram the centre of the circle is shown with a dot.

Match each diagram to its label.
One has been done for you.

Label Diagram

Circle and radius

Circle and segment

Circle and arc -

Circle and diameter

Circle and tangent

Circle and chord

(4)




To find the contents of each empty box, multiply the two terms directly beneath it.

Complete the multiplication pyramid.
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Simplify ~ 9h + 5k + 4h — 8k
qlr\-& L e+ Qv - RV
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(a) Write down two multiples of 7.

(b)  Write down two multiples of 9.

(1)
(c) Write down a number which is a multiple of both 7 and 9.
q»:> X \L‘/ LML%/Z;S,HL,"‘C‘J .
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y=w - 2a2

w = 400
a=5

Work out the value of y.

40oQ - 2(S™)
= WO - SO g%Q

= BE0




The distance from Leek to Milton is 310 miles.
A train travels this distance in 4 hours 15 minutes.

Calculate the average speed of the train.
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Two numbers are in the ratio 3:7

One of the numbers is 42

There are two possible values for the other number.
What are the two possible values?

T xb= 11

55(&‘_
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Sarah bought a TV for £250
Three years later she sold it for £180

Work out her percentage loss

50 =¥ 0 —
O
‘ ¥ 10O0CQ =
1.88
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9%cm

Bcm 1w
\ 2

Work out the surface area of this cuboid.
State the units of your answer.

G xi1 = 0%

P MY L = Fhag by
10O X 4 = w1
X = 28%
LI + 1T —




8cm
Calculate the perimeter of the sector.
\ : . " '
= L. X TXE — |LSLE,,.
Acc \U\ﬁf\& = o FeE ‘ b

p: 1L.S6ey + R+3

= 28-S664% . ..

...... Q %écm
(2)




Calculate the area of the sector.

Aveo = SL_ti x TTx®*

= L. 0106y ..

.........................




A number, n, is rounded to 1 decimal place.
The resultis 1.3

Using inequalities, write down the error interval for n.

1.LS < N < VES




A supermarket sells Baked Beans in two different size cans.

215g
40p

Which size can is the best value for money?
You must show all your working.

X159 = RHOp .
o
_ﬂ_g_/)

!:3 - 215

kg = 18ep = £1.8L
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Work out

4\/100 _2.43

Write down all the figures from your calculator display.

B0 LRIBYT3..
(2)




The sizes of the interior angles of a triangle are in the ratio 1:3:8
Calculate the difference in size between the largest and smallest angles.

/4/19/63 g "]’Vla/ﬁ/e_ acld toa 180°
o+ S xR = \L
1RQ - L = \S
SmQ\lest Qﬁg\Q e & mTE & \go
\&(Sﬁ%t OJ\%\E. _R¥xiS = 12C

120 -1 S = 109




f . On the grid, draw x + 2y = 6 for values of x from -2 to 2.
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